# ******************** GET STANDARD DEVIATION ********************


# This procedure cumulatively calculates the std dev from a series


# of readings presented in MEM in units of nominal


# Set M[61],M[62],M[63],M[64] and M[65]=0 to start with





#M[61] = Sum of readings


#M[62] = Which reading is this


#M[63] = Sum of readings squared


#M[64] = Sum of square of readings


#M[65] = Holds final SD value





  4.004  MATH         M[62]=M[62]+1;M[61]=MEM+M[61]


  4.005  MATH         M[63]=M[61]*M[61];M[64]=(MEM^2)+M[64]


  4.006  JMPL         SKIP_FIRST_READING M[62]==1


  4.007  MATH         M[65]=M[64]-(M[63]/M[62])


  4.008  MATH         M[65]=SQRT (ABS(M[65]/(M[62]-1)))


# Calculate SD % noise (M[66]) and SD in ppm (M[67])


  4.009  MATH         M[66]=ABS((M[65]/M[49])*100)


  4.010  MATH         M[67]=ABS(M[65]/(MEM + 1E-30))


  4.011  LABEL        SKIP_FIRST_READING


  4.013  END








